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Exercise1.1

Q-1ChooseThecorrectanswer

1)Thenumberforsixthousandsevenhundredfortysevenis.

(A)6476. (. )(B)6747. (.)(.C.)6746.(.). (D)6647.(. )

2)Thesmallest4digitnumberis

(A)10(. ). (B)100 (.)(C).1000(. )

Q.2Writethenumbersforthefollowingnumbersnames

1fourthousandtwohundredtwentynine

2.fivethousandthreehundredtwentyseven

3ninethousandfivehundredsixtyseven

Q.3writethenumbernamesforthefollowingnumbers

1)13090-____________________________________________

2.6879-____________________________________________

3.1209-____________________________________________



Q.4writethemissingnumber

1.8219,__________,____________,____________8223

2.9932,___________,___________,____________9936

3.6809,____________,__________,___________6813

Exercise1.2

Q-1choosethecorrectanswer

1.5thousand+3tens+2onesisequalto

(A)5302. (. ).(b)5032

2.7thosand+2hundred+9tensisequalto

(A)727. (. )(B)7290.(.)

3.9th0usand+8hundred+7tensisequalto

(A)987.(. )(B). 9870. (. )

Q.2Writethenumber

1.2thousand+2hundred+6tens+9ones

2.8thousand+3hundred+5tens+4ones

3.6thousand+5hundred+9ones

Q.3fillinblanks

1.6534=____thousand+____hundred+____tens+____ones

2.2565=____thousand+____hundred+____tens+____ones

3.3683=____thousand+____hundred+____tens+____ones

4.1050=____thousand+____hundred+____tens+____ones

Q.4writetheplacevalueoftheUnderlinedigitsinthhefollowingnumbers.

1.1675-____________



2.6459-____________

3.2967-____________

Excise1.3

Q.1Choosethecorrectanswer

1)10more5678is

(a)5678()(b)5688()

2)Thepredecessorof7638is

(a)7630()(b)7637()

3).Thenumberonemorethan5000is

(a)6000()(b)5001()

4)Thenumber100morethan2015is

(a)2105()(b)2115()

Q.2Thenumberwhichis

(a)10lessthan14770=______

(b)100morethan9363=______

(c)1000lessthan3273=______

(d)10morethan9237=______

Q.3Findthesuccessorofthefollowing

1.9587-____________

2.1125-____________

Q.4Findthepredecessorofthefollowing

1.3125-____________

2.9384-____________

Exercise1.4



Q-1Choosethecorrectanswer.

1)Whichofthefollowingstatmentaiscorrect

a)421<335

b)756>567

2)Thesmallestfourdigitnumberformedusingthedigits5,7,9,8.

a)5789

b)5798

3)Thegreatestfourdigitnumberformedusingthedigits1,2,9,3is

a)1293

b)9321

4)ThesmallestNumberamong7635,8735,3485,6597is

a)3485

b)7635

5)Thegreatestnumberamong1999,1987,9991,9998is

a)9991

b)9998

Q-2Fillintheblankswith<,>,=

1)3178______5297

2)7923______783

3)2005______2008

4)5685______572

Q-3Arrangethefollowingnumberinascendingorder.

1)421148,12418,521218,21821

2)19035,20951,251704,10245



Q-4Arrangethefollowingnumberindescendingorder.

1)43246,3426,3642,3624

2)751768,75168,76178,856187

Q-5Makethegreatestandsmallestfourdigitnumberusingthegive.Digitonlyonce.

1)6,5,2,9

2)4,0,1,8

3)5,7,1,2

Exercise1.5

Q-1Choosethecorrectanswer

1)Inromannumerationsystem _________Symbolsareused.

a)7

b)5

2)Innumerationsystem wecannotwrite

a)0

b)10

3)ThevalueofsymbolDis

a)10

b)500

4)XIXisequalto

a)9

b)19

Q-2Writetheromannumeralsforthefollowing.



1)9

2)5

3)11

4)18

Q-3ConverttheRomannumeralsintonumbers.

1)III

2)X

3)V

4)XIII


